

Sierra Club California 2023 Report Card

2023: A Year of Environmental Progress and Transition

2023 produced some incredible wins for the environment in the legislature. Environmental advocates from Sierra Club California and other organizations worked up until the literal final hour of this year's session to advance several critical bills that will protect California's public health and ecosystems.

Sierra Club California closely monitored a total of 601 bills introduced in 2023. Out of these, we threw our support behind 138. A total of 65 of these bills successfully reached the Governor's desk, and another 20 are set to be carried over as two-year bills for the 2024 legislative session. Additionally, we successfully thwarted numerous environmentally harmful bills - a testament to the robust strength of our movement. Out of the 51 bills we opposed this year, only one managed to reach the Governor's desk.

Considering these numbers, 2023 was a relatively successful year for environmental initiatives in the legislature. However, the full picture is of course, never that straightforward.

The legislative session kicked off with a bleak fiscal outlook for the state, and multiple sources predicted a substantial budget deficit that jeopardized critical climate and natural resources investments made in previous years. Unfortunately, the Governor's January budget proposal delayed and cut funding for some vital climate projects, such as rooftop solar, building decarbonization, and clean transportation. Sierra Club California and the environmental community tirelessly lobbied lawmakers to push back against these cuts and protect programs that support vulnerable communities and ecosystems. This collective effort paid off, as the legislature reallocated billions of dollars for these programs, and ultimately passed a budget aligning with California's core values and commitment to fighting the climate crisis.

The legislature also rose to the occasion when the Governor announced a special session to take on Big Oil, and when he introduced an infrastructure proposal we strongly opposed (more on these topics in the Governor's section).

This session featured notable leadership transitions that will undoubtedly have major implications for the environment and climate in the coming years.



In the Assembly, Speaker Robert Rivas succeeded Speaker-Emeritus Anthony Rendon at the end of July, marking the beginning of a new era in the chamber. Speaker Robert Rivas, generally an ally to Sierra Club and the environmental community, started his tenure by keeping Committee Chairs the same, a move greatly appreciated by many in the environmental community given their current composition. We hope that the confidence in these Chairs remains in 2024.

On the Senate side, President Pro Tem Toni Atkins, who is termed out in 2024, saw her chamber colleagues selecting their next leader. Senator Mike McGuire, a dedicated environmentalist representing the North Coast, was announced as the next Pro Tem. Senator McGuire has consistently championed coastal protection, public lands access, utility accountability, and species/habitat conservation. He actively engages with the environmental community, and we're thrilled to continue our collaborative efforts.

Throughout 2023, the environment was at the forefront of legislative discussions, and much credit goes to the passionate advocates and activists who ensured that legislators heard their voices and demanded better. In the end, many legislators stepped up, a fact reflected in this year's scores.

Together, we've achieved progress for California's environment, and we're determined to keep pushing for positive change next year.

Sierra Club California

Environmental Champions, Old and New

Our perfect score accolade is given to legislators who vote with Sierra Club California on our scored environmental bills 100% of the time. Last year, that distinction was limited to just six legislators - 1 Senator and 5 Assemblymembers. **2023 was a much brighter picture: 22 Senators and 24 Assemblymembers received a perfect score this year.**

Among these 46, are seasoned environmental champions like **Asm. Wendy Carrillo**, who fearlessly carried Assembly Bill 1167, crucial legislation to hold polluters accountable; **Asm. Isaac Bryan**, a steadfast advocate for the integrity of the ballot referendum process who carried Assembly Bill 421; **Sen. Lena Gonzalez**, who tirelessly championed numerous environmental justice bills throughout the session, such Senate Bills 394 and 674; and of course, **Sen. Henry Stern**, who continually ensures that the environment had a strong and unwavering voice in every legislative conversation.

While we're always appreciative of the veteran Assemblymembers and Senators, we also want to highlight 3 freshman legislators who aligned their stated pro-environment positions with their actions and went above and beyond to build relationships with the environmental community this year.



Senator Caroline Menjivar (SD-20)

- Sponsored SB 499, which tackled extreme heat impacts on our schools and education facilities.
- Worked with Sierra Club California to pass several pieces of legislation out of the Senate Environmental Quality committee, on which she sits, and to ensure black and brown communities have a voice at the table.



Assemblymember Dawn Addis (AD-30)

- Sponsored AB 80, which ensures integrity in scientific research and environmental protection related to Offshore Wind development.
- Stood alongside Sierra Club California and our allies to defend rollbacks of the California Environmental Quality Act, the state's flagship environmental protection law.



Assemblymember Damon Connolly (AD-12)

- Sponsored AB 99, protective legislation that would have prohibited dangerous chemical use in pesticides that degrade sensitive ecosystems along California roads.
- Fought against the inclusion of the environmentally destructive Delta tunnel - long opposed by Sierra Club California - in the Governor's infrastructure package.

Some honorable mentions in the freshmen perfect score category include **Sen. Lola Smallwood-Cuevas** and **Asm. Liz Ortega**. Both regularly seek to bridge the gap between environmental and labor communities and consistently seek out environmental justice perspectives.

It's also important to address the legislators, both experienced and new, who **scored poorly** this year and/or proposed anti-environmental bills. This group includes most Republican legislators, as well as Democratic legislators such as **Sen. Melissa Hurtado** and **Asm. Carlos Villapudua**. Freshmen legislators **Sen. Marie Alvarado-Gil**, **Asm. Stephanie Nguyen**, **Asm. Jasmeet Bains**, and **Asm. Blanca Pacheco** were also similarly poor on environmental issues. We hope for a more environmentally conscious 2024, and we remain optimistic that these legislators can make positive changes in the coming year.

Sierra Club California

www.sierraclubcalifornia.org



Governor Newsom's 2023: Not Always Collaborative

In 2023, Governor Newsom embarked on the first year of his second term with an energy we've come to expect. He took some positive actions, like the state's lawsuit against big oil, and some frustrating ones detailed below. So as always, his overall score is more nuanced than mere numbers can convey.

Out of the 14 bills we scored this year, only 7 reached Governor Newsom's desk. Of these 7 bills, we supported all, and we're glad to say he signed every single one. If we graded the Governor solely on this, he would receive a perfect 100%.

A broader analysis of the Governor's performance offers a less sterling evaluation. Sierra Club California supported a total of 65 bills that landed on Governor Newsom's desk in 2023. He signed 49 and vetoed 16, including three from Sierra Club California's 2023 Priority Bill List. Meanwhile, only one bill we opposed made it to the Governor's desk, and he signed that bill. Taking these statistics into account, his actions aligned with the Sierra Club position approximately 73% of the time.

But it's essential to consider his actions beyond bills when evaluating his performance in 2023. This year, those actions were a mixed bag. In late 2022, the Governor announced he'd be convening a special session this year to tackle the rising gas prices across California. This was especially important given the record profits the oil and gas industry were raking in. After hearings and negotiations, the result of this special session was the establishment of a new state office that will oversee and monitor the industry's price-gouging practices. With more transparency and data, the state and environmental advocates will be in a better position to hold

the industry accountable for its greed. To accomplish this, the administration and environmental community worked to ensure that the outcome would benefit the most impacted and vulnerable communities.

This collaborative effort showcased the effectiveness and importance of cooperation between the Governor's office and environmentalists. However, in mid-May, Newsom unveiled an infrastructure package that, surprisingly, revealed a lack of genuine collaboration with environmentalists. The proposal, presented as a means to leverage federal funding, posed significant environmental risks by streamlining permits for projects like the environmentally destructive Delta tunnel and Sites Reservoir. The Governor sought to pass the package in a mere 3 weeks as part of the opaque budget process.

In response, a coalition of environmental justice and conservation groups rallied to oppose the package. We successfully lobbied for multiple legislative hearings to scrutinize the proposal, in which <u>legislators spoke</u> about the problems of trying to rush through a massive infrastructure package without community input. As a result, the package was significantly narrowed.

When considering these pivotal actions alongside Newsom's bill-signing decisions, a more complex picture of the Governor's involvement in the legislative process emerges. While his administration frequently emphasizes its commitment to addressing the climate crisis, it's critical that his actions align with those words. The choice of whom Newsom decides to "walk the walk" with holds significance. Often, the environmental community finds itself not entirely in step with the Administration, even in the Governor's second term.

So, what grade would we give the Governor for 2023? A "C*" would suffice. The asterisk would signify a comment from the teacher: "Doesn't always play well with others."

Now that you know the score, take action!



<u>Tell your legislators you know the score</u>. Call their district offices and thank them if they scored well, or express disappointment if they didn't. Let them know you care about California's environment. You can find phone numbers for legislators at: www.senate.ca.gov or www.assembly.ca.gov. You can find out who your representatives are at: findyourrep.legislature.ca.gov.



Take action on key legislation when the 2024 session starts by signing up for Sierra Club California's in-district lobbying program: www.sierraclub.org/california/district-advocacy

Become a Sierra Club member on our website and sign up for our activist updates.

2023 Bill Summaries

Sierra Club California policy advocates select the bills that appear on the report card. The selection is based on factors that include a bill's overall importance to the state's environmental quality, the precedent it sets for good or bad impacts, and the bill's importance to fulfilling the Club's mission. We also consider what a bill's score reveals about environmental commitment in the legislature. This year, we scored 14 total bills: 9 that originated in the Assembly, and 5 from the Senate. When a bill returned to its house of origin for a concurrence vote, we used that vote.

SB 252- Advancing Fossil Fuel Divestment

This bill would prohibit the California Public Employees Retirement System (CalPERS) and theCalifornia State Teachers' Retirement System (CalSTRS) from investing in fossil fuel companies, and require that they divest any current investments by 2030. **Support: Held in Assembly Committe on Public Employment and Retirement**

SB 233- Unlocking Grid Reliability via EVs

This bill would aid in grid reliability by authorizing CARB to require that new EVs sold in California are capable of bidirectional charging so that EV batteries have the ability to power homes or otherfacilities when electricity demand is at its peak and prices are high. **Support: Held on the Assembly Floor**

SB 253- Increasing Corporate Transparency

This bill will require publicly traded corporations with annual revenues in excess of \$1 billion that do business in California to publicly disclose their greenhouse gas emissions from the prior calendar year. The bill would also require CARB to create regulations requiring those corporations to set targets based on their emissions **Support: Signed by Governor**

SB 389- Verifying Pre-1914 Water Rights

This bill would close a long-standing loophole and help California water regulators obtain a more accurate evaluation of senior water rights and actual water use in watersheds statewide. **Support: Signed by Governor**

SB 261- Disclosing Climate-Related Financial Risk

This bill will help create a climate-resilient workforce and protect the state's economy by mandating that corporations disclose climate-related financial risks associated with corporate operations, employee health and safety, capital investments, and supply chains. **Support: Signed by Governor**

AB 363-Addressing Pesticide Use

This bill would expand upon existing agricultural regulations on the use of neonicotinoids, a class of insecticides, to prohibit the use, possession, and sale in outdoor, non-agricultural settings due to their harmful effects on pollinating insects, aquatic ecosystems, and human health. **Support: Signed by Governor**

AB 421- Reforming California's Referendum Process

This bill will put the referendum process back in the hands of Californians by reforming the referendum and ballot measure process to ensure that key information is disclosed. **Support:** Signed by Governor

AB 652- Enviornmental Justice Oversight of Pesticides

This bill would require the Department of Pesticide Regulation to establish an Environmental Justice Advisory Committee to increase transparency and accountability on ways to integrate environmental justice considerations in decisionmaking. **Support: Signed by Governor**

AB 985- Investigating Pollution Credit Trading Systems This bill would require CARB to investigate the San Joaquin

Valley Air Pollution Control District's unsubstantiated emission reduction credits to determine whether they are valid. **Support:** Held on the Assembly Floor

AB 1167- Making Dirty Polluters Pay their Fair Share

This bill addresses CA's orphan well crisis by requiring operators that acquire the right to operate an oil well or production facility through purchase, transfer, or other disposition to cover the full remediation costs associated with plugging and abandonment and site restoration determined by the State Oil and Gas Supervisor. **Support: Signed by Governor**

AB 6- Creating New Transportation Planning Emission Targets

This bill would set 2035 and 2045 greenhouse gas (GHG) emission targets for regional transportation agencies' sustainability plans and would allow the state to tailor regional plans to meet statewide GHG emission goals by extending the review period of these plans to 180 days. **Support: Held in the Senate Transportation Committee**

AB 460- Reducing Wasteful Water Usage

This bill would increase the State Water Resources Control Board's ability to enforce Califonia's water laws to stop unlawful diversion or use of water **Support: Held by the Author in the Senate Natural Resources & Water Committee**

AB 1337- Addressing Inequity in Water Access During Droughts

This bill would address inequities in water rights regulation and allow the State Water Resources Control Board to issue a curtailment order for any water diversion when there is insufficient water supply to meet their priority of right. **Support: Held in the Natural Resources and Water Committee**

AB 1347- Reducing Paper Receipt Waste

This bill would require businesses to provide customers the option of no receipt, e-receipt, or paper receipt during a transaction. This bill also requires receipts to be BPA/BPS free, and that receipt lengths are not longer than necessary. **Support: Held in Senate Appropriations Committee**

Report Card Legend and Notes Legislator was present, but chose not to cast a vote in support of a pro-environment bill

- Pro-environment vote
 - Anti-environment vote
- Excused absence Ε

NV-NV+ Legislator was present, but chose not to cast a vote on an anti-environment bill

Legislator was not a member of the committee or had moved to another position during the vote

n/a Scores are based on the number of "+" and "NV+" votes cast versus the total number of possible votes (excused absences do not count against a score, but NV- votes do).

ASSEMBLY REPORT CARD	VOTE COUNT	SCORE	SUPPORTED MEASURES										
			AB 6 Creating New Transporta- tion Planning Emission Targets	AB 363 Addressing Pesticide Use	AB 421 Reforming California's Referendum Process	AB 460 Reducing Wasteful Water Usage	AB 985 Investigat- ing Pollu- tion Credit Trading Systems	AB 1167 Making Dirty Polluters Pay their Fair Share	AB 1337 Addressing Inequity in Water Access During Droughts	AB 1347 Reducing Paper Receipt Waste	SB 253 Increasing Corporate Transparency	SB 261 Disclosing Climate-Related Financial Risk	
Addis, Dawn (D-30)	10/10	100%	+	+	+	+	+	+	+	+	+	+	
Aguiar-Curry, Cecilia M. (D-04)	6/10	60%	NV-	+	+	NV-	NV-	NV-	+	+	+	+	
Alanis, Juan (R-22)	0/10	0%	-	-	-	-	-	-	-	-	-	-	
Alvarez, David (D-80)	4/10	40%	NV-	NV-	+	NV-	NV-	NV-	+	NV-	+	+	
Arambula, Dr. Joaquin (D-31)	8/10	80%	+	+	+	NV-	+	+	NV-	+	+	+	
Bains, Jasmeet (D-35)	1/10	10%	-	NV-	+	-	-	NV-	-	NV-	-	NV-	
Bauer-Kahan, Rebecca (D-16)	9/9	100%	+	+	+	+	E	+	+	+	+	+	
Bennett, Steve (D-38)	9/10	90%	+	+	+	+	+	+	+	NV-	+	+	
Berman, Marc (D-23)	9/10	90%	+	+	+	+	NV-	+	+	+	+	+	
Boerner, Tasha (D-77)	10/10	100%	+	+	+	+	+	+	+	+	+	+	
Bonta, Mia (D-18)	10/10	100%	+	+	+	+	+	+	+	+	+	+	
Bryan, Isaac G. (D-55)	10/10	100%	+	+	+	+	+	+	+	+	+	+	
Calderon, Lisa (D-56)	7/10	70%	+	+	+	NV-	NV-	+	NV-	+	+	+	
Carrillo, Juan (D-39)	5/10	50%	+	+	+	NV-	NV-	NV-	+	NV-	+	NV-	
Carrillo, Wendy (D-52)	10/10	100%	+	+	+	+	+	+	+	+	+	+	
Cervantes, Sabrina (D-58)	4/10	40%	NV-	+	+	NV-	+	NV-	NV-	+	NV-	NV-	
Chen, Phillip (R-59)	0/10	0%	-	-	-	-	-	-	-	-	-	-	
Connolly, Damon (D-12)	10/10	100%	+	+	+	+	+	+	+	+	+	+	
Dahle, Megan (R-01)	0/10	0%	-	-	-	-	-	-	-	-	-	-	
Davies, Laurie (R-74)	0/10	0%	-	-	-	-	-	-	-	-	-	-	
Dixon, Diane (R-72)	0/10	0%	-	-	-	-	-	-	-	-	-	-	
Essayli, Bill (R-63)	0/10	0%	-	-	-	-	-	-	-	-	-	-	
Flora, Heath (R-09)	1/10	10%	-	-	-	-	-	-	-	-	-	+	
Fong, Mike (D-49)	10/10	100%	+	+	+	+	+	+	+	+	+	+	
Fong, Vince (R-32)	0/10	0%	-	-	-	-	-	-	-	-	-	-	
Friedman, Laura (D-44)	10/10	100%	+	+	+	+	+	+	+	+	+	+	
Gabriel, Jesse (D-46)	8/9	89%	E	+	+	+	NV-	+	+	+	+	+	
Gallagher, James M. (R-03)	0/10	0%	-	-	-	-	-	-	-	-	-	-	
Garcia, Eduardo (D-36)	9/10	90%	NV-	+	+	+	+	+	+	+	+	+	
Gipson, Mike A. (D-65)	4/10	40%	+	+	+	NV-	+	NV-	NV-	NV-	NV-	NV-	
Grayson, Timothy S. (D-15)	5/10	50%	NV-	+	+	+	NV-	NV-	+	+	NV-	NV-	
Haney, Matt (D-17)	9/10	90%	+	+	+	+	NV-	+	+	+	+	+	
Hart, Gregg (D-37)	9/10	90%	NV-	+	+	+	+	+	+	+	+	+	
Holden, Chris (D-41)	10/10	100%	+	+	+	+	+	+	+	+	+	+	
Hoover, Josh (R-07)	0/10	0%	-	-	-	-	-	-	-	-	-	-	
Irwin, Jacqui (D-42)	7/10	70%	NV-	NV-	+	+	NV-	+	+	+	+	+	
Jackson, Dr. Corey (D-60)	9/10	90%	+	+	+	+	+	+	+	+	+	NV-	
Jones-Sawyer, Reginald (D-57)	10/10	100%	+	+	+	+	+	+	+	+	+	+	

	VOTE COUNT	SCORE	SUPPORTED MEASURES										
ASSEMBLY REPORT CARD			AB 6 Creating New Transporta- tion Planning Emission Targets	AB 363 Addressing Pesticide Use	AB 421 Reforming California's Referendum Process	AB 460 Reducing Wasteful Water Usage	AB 985 Investigat- ing Pollu- tion Credit Trading Systems	AB 1167 Making Dirty Polluters Pay their Fair Share	AB 1337 Addressing Inequity in Water Access During Droughts	AB 1347 Reducing Paper Receipt Waste	SB 253 Increasing Corporate Transparency	SB 261 Disclosing Climate-Related Financial Risk	
Kalra, Ash (D-25)	10/10	100%	+	+	+	+	+	+	+	+	+	+	
Lackey, Tom (R-34)	0/10	0%	-	NV-	-	-	-	-	-	-	-	-	
Lee, Alex (D-24)	10/10	100%	+	+	+	+	+	+	+	+	+	+	
Low, Evan (D-26)	7/10	70%	+	+	+	+	NV-	NV-	+	+	NV-	+	
Lowenthal, Josh (D-69)	9/10	90%	+	+	+	+	+	+	+	+	+	NV-	
Maienschein, Brian (D-76)	8/10	80%	+	+	+	+	NV-	+	+	+	+	NV-	
Mathis, Devon (R-33)	0/10	0%	-	-	-	-	-	-	-	-	-	-	
McCarty, Kevin (D-06)	10/10	100%	+	+	+	+	+	+	+	+	+	+	
McKinnor, Tina (D-61)	10/10	100%	+	+	+	+	+	+	+	+	+	+	
Muratsuchi, Al (D-66)	10/10	100%	+	+	+	+	+	+	+	+	+	+	
Nguyen, Stephanie (D-10)	1/10	10%	NV-	NV-	NV-	NV-	NV-	NV-	NV-	+	NV-	NV-	
Ortega, Liz (D-20)	10/10	100%	+	+	+	+	+	+	+	+	+	+	
Pacheco, Blanca (D-64)	2/10	20%	NV-	NV-	NV-	NV-	NV-	NV-	NV-	NV-	+	+	
Papan, Diane (D-21)	6/10	60%	+	+	+	NV-	NV-	NV-	NV-	+	+	+	
Patterson, Joe (R-05)	0/10	0%	-	-	-	-	-	-	-	-	-	-	
Patterson, Jim (R-08)	0/10	0%	-	-	NV-	-	-	-	-	-	-	-	
Pellerin, Gail (D-28)	9/10	90%	+	+	+	+	+	+	NV-	+	+	+	
Petrie-Norris, Cottie (D-73)	5/10	50%	NV-	+	+	NV-	NV-	+	NV-	NV-	+	+	
Quirk-Silva, Sharon (D-67)	5/10	50%	NV-	+	+	NV-	NV-	NV-	NV-	+	+	+	
Ramos, James (D-45)	4/10	40%	NV-	+	NV-	+	+	NV-	+	NV-	-	NV-	
Rendon, Anthony (D-62)	10/10	100%	+	+	+	+	+	+	+	+	+	+	
Reyes, Eloise Gómez (D-50)	10/10	100%	+	+	+	+	+	+	+	+	+	+	
Rivas, Luz (D-43)	9/10	90%	+	+	+	+	+	+	NV-	+	+	+	
Rivas, Robert (D-29)	10/10	100%	+	+	+	+	+	+	+	+	+	+	
Rodriguez, Freddie (D-53)	4/10	40%	NV-	+	NV-	+	+	NV-	+	NV-	NV-	NV-	
Rubio, Blanca E. (D-48)	2/10	20%	+	+	NV-	NV-	NV-	NV-	NV-	NV-	NV-	NV-	
Sanchez, Kate A. (R-71)	0/10	0%	-	-	-	-	-	-	-	-	-	-	
Santiago, Miguel (D-54)	10/10	100%	+	+	+	+	+	+	+	+	+	+	
Schiavo, Pilar (D-40)	9/10	90%	+	+	+	+	+	+	+	+	+	NV-	
Soria, Esmeralda (D-27)	2/10	20%	+	NV-	+	-	-	NV-	-	NV-	NV-	NV-	
Ta, Tri (R-70)	0/10	0%	-	-	-	-	-	-	-	-	-	-	
Ting, Philip Y. (D-19)	8/10	80%	+	+	+	NV-	+	+	NV-	+	+	+	
Valencia, Avelino (D-68)	0/10	0%	NV-	NV-	NV-	NV-	NV-	NV-	NV-	NV-	NV-	NV-	
Villapudua, Carlos (D-13)	0/10	0%	NV-	NV-	NV-	NV-	-	NV-	NV-	NV-	NV-	NV-	
Waldron, Marie (R-75)	0/10	0%	-	-	-	-	-	-	-	-	-	-	
Wallis, Greg (R-47)	0/10	0%	-	-	-	-	-	-	-	-	-	-	
Ward, Christopher M. (D-78)	10/10	100%	+	+	+	+	+	+	+	+	+	+	
Weber, M.D., Akilah (D-79)	9/10	90%	+	+	+	+	+	+	+	+	NV-	+	
Wicks, Buffy (D-14)	9/10	90%	+	+	+	+	NV-	+	+	+	+	+	
Wilson, Lori (D-11)	7/10	70%	+	+	+	NV-	NV-	NV-	+	+	+	+	
Wood, Jim (D-02)	10/10		+	+	+	+	+	+	+	+	+	+	
Zbur, Rick Chavez (D-51)	10/10	100%	+	+	+	+	+	+	+	+	+	+	

			SUPPORTED MEASURES										
SENATE REPORT CARD	VOTE COUNT	SCORE	SB 252 Advancing Fossil Fuel	SB 233 Unlocking Grid Reliability via	SB 253 Increasing Corporate	SB 389 Verifying Pre- 1914 Water	SB 261 Disclosing Climate-Related	AB 363 Addressing Pesticide Use	AB 421 Reforming California's Referendum	AB 652 Environmen- tal Justice Oversight of	AB 985 Investigating Pollution Credit Trad-	AB 1167 Making Dirty Polluters Pay their Fair	
			Divestment	EVs	Transparency	Rights	Financial Risk	resticite Use	Process	Pesticides	ing Systems	Share	
Allen, Ben (D-24)	10/10	100%	+	+	+	+	+	+	+	+	+	+	
Alvarado-Gil, Marie (D-04)	0/10	0%	-	-	-	-	-	-	-	-	-	-	
Archuleta, Bob (D-30)	10/10	100%	+	+	+	+	+	+	+	+	+	+	
Ashby, Angelique V. (D-08)	10/10	100%	+	+	+	+	+	+	+	+	+	+	
Atkins, Toni G. (D-39)	10/10	100%	+	+	+	+	+	+	+	+	+	+	
Becker, Josh (D-13)	10/10	100%	+	+	+	+	+	+	+	+	+	+	
Blakespear, Catherine (D-38)	10/10	100%	+	+	+	+	+	+	+	+	+	+	
Bradford, Steven (D-35)	8/10	80%	NV-	+	+	+	+	+	+	+	+	NV-	
Caballero, Anna (D-14)	2/2	100%	E	+	E	E	E	E	+	E	E	E	
Cortese, Dave (D-15)	10/10	100%	+	+	+	+	+	+	+	+	+	+	
Dahle, Brian (R-01)	0/10	0%	-	-	-	-	-	-	-	-	-	-	
Dodd, Bill (D-03)	5/10	50%	-	+	NV-	+	NV-	NV-	+	+	+	NV-	
Durazo, Maria Elena (D-26)	10/10	100%	+	+	+	+	+	+	+	+	+	+	
Eggman, Susan Talamantes	9/10	90%	+	+	+	+	+	+	+	+	+	-	
Glazer, Steven M. (D-07)	8/10	80%	NV-	+	+	+	+	+	+	+	+	NV-	
Gonzalez, Lena A. (D-33)	10/10	100%	+	+	+	+	+	+	+	+	+	+	
Grove, Shannon (R-12)	0/10	0%	-	-	NV-	NV-	-	-	-	-	NV-	-	
Hurtado, Melissa (D-16)	3/10	30%	-	NV-	+	+	NV-	-	+	-	NV-	-	
Jones, Brian (R-40)	0/10	0%	-	-	-	-	-	-	-	-	-	-	
Laird, John (D-17)	10/10	100%	+	+	+	+	+	+	+	+	+	+	
Limón, Monique (D-19)	10/10	100%	+	+	+	+	+	+	+	+	+	+	
McGuire, Mike (D-02)	10/10	100%	+	+	+	+	+	+	+	+	+	+	
Menjivar, Caroline (D-20)	10/10	100%	+	+	+	+	+	+	+	+	+	+	
Min, Dave (D-37)	10/10	100%	+	+	+	+	+	+	+	+	+	+	
Newman, Josh D. (D-29)	6/10	60%	NV-	NV-	NV-	+	+	+	+	+	+	NV-	
Nguyen, Janet (R-36)	0/10	0%	-	-	-	-	-	-	-	-	-	-	
Niello, Roger W. (R-06)	0/10	0%	-	-	-	-	-	-	-	-	-	-	
Ochoa Bogh, Rosilicie (R-23)	0/10	0%	-	-	-	-	-	-	-	-	-	-	
Padilla, Steve (D-18)	9/9	100%	+	+	+	+	+	+	E	+	+	+	
Portantino, Anthony (D-25)	10/10	100%	+	+	+	+	+	+	+	+	+	+	
Roth, Richard D. (D-31)	4/10		NV-	+	NV-	+	NV-	NV-	+	+	NV-	NV-	
Rubio, Susan (D-22)	8/10	80%	NV-	+	+	+	+	+	+	+	+	NV-	
Seyarto, Kelly (R-32)	0/10	0%	-	-	-	-	-	-	-	-	-	-	
Skinner, Nancy (D-09)	10/10	100%	+	+	+	+	+	+	+	+	+	+	
Smallwood-Cuevas, Lola (D-28)	10/10	100%	+	+	+	+	+	+	+	+	+	+	
Stern, Henry I. (D-27)	10/10	100%	+	+	+	+	+	+	+	+	+	+	
Umberg, Thomas (D-34)	9/10	90%	+	+	+	+	+	+	+	+	+	NV-	
Wahab, Aisha (D-10)	10/10	100%	+	+	+	+	+	+	+	+	+	+	
Wiener, Scott D. (D-11)	10/10	100%	+	+	+	+	+	+	+	+	+	+	
Wilk, Scott T. (R-21)	1/10	10%	NV-	-	-	-	+	-	-	-	-	-	

Sierra Club California, founded in 1986, is the legislative and regulatory advocacy arm of the Sierra Club's 13 California chapters. Sierra Club California staff produced this report.